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+ Yz ®E
SHA T : 2023
O AFTE : Eof Ak
S| 2 - Yutal)
(el M2l
O ARHE (T 2H 84| BH2) A e eSS
gt A 49,478,707 46,072,411 3,406,296
g | e | st | ases|
100 AH= &%=l 827,956 1,169,151 A 341,195
180 FEAIZ 827,956 1,169,151 A 341,195
181 =MAHUYHZ 827,956 1,169,151 A 341,195
01 =MAH Y02 827,956 1,169,151 A 341,195
O sHMA|2EA et 299 827,956 1,169,151 A 341,195
- 2ddr 2 FMolF odH|H[(FYX|HE) 200,000 200,000 -
o Aldd]| 590,366 947,451 A 357,085
- &HE . AHES| FAHEALE) 15,000 - 15,000
—of A 2 AAHEI| e (BYX[AEH) 2,700 - 2,700
- gz|del elAatze|(ERE) 1,500 - 1,500
- MEed 7| 24d|(55+H) 3,850 - 3,850
-4z 2H(55FH) 300,000 500,000 A 200,000
- M= (HF2[AHEH”) 6,000 - 6,000
- stMAEHE sE 2 sc2YE 180,316 180,451 A 135
- 3lMof=¢9l DB OlE|AE 2lo|=22{2| (ol =2l x| K El) 50,000 - 50,000
- ool A% Zst otFtH o] (o 2UXHE) 31,000 - 31,000
- HEEMAE| SH(SH1E) - 77,000 A 77,000
- SAIETIEEH (SH28) - 190,000 A 190,000
o XS SH|_AFRIH] 32,790 21,700 11,090
— LY Q| S ZEALK] & (ZHAHED) 790 - 790
- ZdYI|EER AR FRMEAEH) 32,000 - 32,000
- SNSZH = Xzt 0|E0EE 2AH(ZGX|E - 5,700 A 5,700
- Mohed 7| 24u|(52E) - 16,000 A 16,000
o 2| 4,800 - 4,800




+ Yz ®E
SHA T : 2023
O AFTE : Eof Ak
S| 2 - Yutal)
(She: MR
O ARHE (T 2H 84| BH2) A e eSS
- 7| 2| (ol s X|HE) 4,800 - 4,800
SIMA| 23lof &3l XY (zH| 2= A 2) 27,104,382 23,641,146 3,463,236
600 AFl==2] 27,231,382 23,641,146 3,590,236
610 A2 27,231,382 23,641,146 3,590,236
7623 Cf 3l Al 4=l 15,986,842 12,902,219 3,084,623
01 & &zl 5= 15,986,842 12,902,219 3,084,623
O SEIEgEsdEH 29 6,832,563 5,904,938 927,625
- SEISEESINE 2H(S7| S0l st AAN EAIGH]) 6,812,985 5,894,188 918,797
aarall 2,080,665 2,038,389 42,276
- 2%H| 44,280 53,920 N 9,640
- AbdH| 4,688,040 3,801,879 886,161
- SEISEESME 2E (7| #Sol s AtE2H EALRIH]) 19,578 10,750 8,828
O 23t 3HAE 29 4,639,201 3,400,244 1,238,957
« 2 SR 2 (S7| &S0l s Z AN 2 EFAIYH]) 4,310,741 3,344,444 966,297
- Q1A 1,316,427 1,359,055 N 42,628
- 24| 74,560 78,056 A 3,496
— AldH| 2,919,754 1,907,333 1,012,421
c EoACt SHE 2P (S| 2Soll ot X2 A 2 EFALIH]) 328,460 55,800 272,660
O MEZSHHE 2 A 2| 1,104,048 1,031,252 72,796
e MEZSIME2A(S7| S0l thHsh ZAA 2[EAIGH]) 1,094,048 1,025,252 68,796
Earal-ll 453,458 452,088 1,370
- 24| 33,940 20,840 13,100
- Atid| 606,650 452,324 154,326
- SRS 23 A (=30, Al70) - 100,000 A 100,000
c MEZSIHE 2 (S7|2HSoll tish A=A 2| EFALIH]) 10,000 6,000 4,000
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+ e s 2=
S|H T : 2023
of A2 1 20f ot
S|AHTFE LS A
(Etel: e
O ARHE (T 2H 84| BH2) A e eSS
O g Molc|olME 24 879,934 874,785 5,149
« stMo|ClojHIEl 2% (27| 250l hat Z A 9EtAldH|) 856,434 866,795 A 10,361
- olzit| 361,669 344,071 17,598
- 29| 15,848 15,848 -
- Abed] 478,917 506,876 A 27,959
« SMo|ClojHlE 2 (S7| 250l h 3t AH2 A 9IEtALH]) 23,500 7,990 15,510
O 2t chs Al off & 2,531,096 1,691,000 840,096
cMxE g 25t Y MY SHA ZEX 1,410,000 1,370,000 40,000
cHSEZotETT 2% 90,000 90,000 -
< AH2lz2 L2 os 110,000 126,000 A 16,000
cBAT TR XY 5,000 5,000 -
c BALR 232 2Y 100,000 100,000 -
<5 BLL Y SR 290,000 - 290,000
csygelies a3 7HEIA8) 526,096 - 526,096
646 HxZ40! 127,000 63,000 64,000
02 Abx|chal 2 = F =9 127,000 63,000 64,000
O zd Al 23t gt x| 2 127,000 63,000 64,000
<A ESX Y 2E of £31 62,000 63,000 A 1,000
2023 AL B 2Y 65,000 - 65,000
648 & F52 11,117,540 10,675,927 441,613
02 Abx| chal &6 F5=9 11,117,540 10,675,927 441,613
O StMEA 2] et x| & 11,117,540 10,675,927 441,613
- olzit| 5,862,851 5,536,082 326,769
- 29| 187,507 180,924 6,583
- Abgdn] 5,067,182 4,958,921 108,261
StEAl Z5tRatnt X2 1,160,154 1,670,974 A 510,820
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+ e s 2=
SIAAE : 2023
of A2 1 20f ot
S|AHTFE LS A
(Etel: e
TS (-T2 H S-S A e EET
600 At2! 1,160,154 1,670,974 A 510,820
610 =+ 1,160,154 1,670,974 A 510,820
623 CH& At =2 1,160,154 1,670,974 A 510,820
01 ZFA|H| 1,160,154 1,670,974 A 510,820
O HMetzl3. 126 =792t & 343122 29 1,160,154 1,670,974 A 510,820
< RE Y et 2 (S7| RS0l f 3 BAE 9IEALRIH) 1,159,154 1,638,974 A 479,820
- Ql7dd] 525,923 559,618 A 33,695
==Ll 32,028 32,028 -
- AttH] 551,203 994,828 A 443,625
- A 23R 29 (240, Al60) 50,000 52,500 A 2,500
<l Y e 2 (ST 20l 3 AHE A I EtALH]) 1,000 32,000 A 31,000
SMAl EM YT} x| 18,609,215 18,241,140 368,075
600 At 2 18,609,215 18,241,140 368,075
610 P+ 18,609,215 18,241,140 368,075
623 &l Al 5= 18,609,215 18,241,140 368,075
01 ZP&a|H| Y 18,609,215 18,241,140 368,075
O =AMz 29 18,609,215 18,241,140 368,075
c EME 2Y(B7| RS0l thet ZAE, RHEE fIEtALYH|) 18,609,215 18,241,140 368,075
EHHAl BEZIBDL XA 1,650,000 1,350,000 300,000
600 At2 1,650,000 1,350,000 300,000
610 =+ 1,650,000 1,350,000 300,000
623 CH 3 Ari <=2l 1,650,000 1,350,000 300,000
01 ZF A2 H| 1,650,000 1,350,000 300,000
O stdi=o| SH| 1,650,000 1,350,000 300,000
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Xl

¥
O
1
FH

S| AAE 2023
AT Eofa
SIATE : QA

" 2023HT 20224
of| Alf= _—I.l._,_ SRR = X=TRY Al = = mE-¥13
Iz (re g8 s AT i) (=olah) (o) Hlms
SHEA RSt SR (EF Aoz =8, AEF, ExF 49,478,707 46,072,411 3,406,296

ZHALE 23 & F P04 A 14,402 18,742 A 4,340
[H2H] HEE skt 11,530 15,870 A 4,340
[Chel] Sojof e HE =t 11,530 15,870 A 4,340
[MF] HE -l d25t gt 6,000 7,000 A 1,000

[M&F] HEACIZAE 2 3,680 5,520 A 1,840

[MIF] el FZEAX 1,850 3,350 A 1,500

[Ma] sl 2| (ZAE) 2,872 2,872 -
[EH2l] 7| 2ZH[(ZAHE) 2,872 2,872 -
[MI5] 7|22 (ZAE) 2,872 2,872 -

ZANE ZAdoiF A 15,790 - 15,790
[HH] HEE g 15,790 - 15,790
[CHel] 82 A& 23t 15,790 - 15,790
[ME] HE oA 23t gt 15,000 - 15,000

[MZ] el EZEAX 790 - 790

23 HT|gE 23 EHZ 704 A 220,550 252,678 A 32,128
[H3] FAHHE zAI2E €Y 216,198 113,528 102,670
[EHel] XA 2stdel A =4 144,952 59,200 85,752
[MIE] H&7le 2 AT AL 36,440 - 36,440
[ME] 2st37h gMdst x| 55,032 29,200 25,832
[M5] 2atcted o2 30,000 30,000 -
[MF] 23by 2 =3 23,480 - 23,480
[cHl] Al A AEHA 25 71,246 54,328 16,918
[MIE] A2l AHEA iU A - 54,328 A 54,328
[MEF] 2atAtA] Hold 2 & &4 3t 65,196 - 65,196
[ME] A2l 25t %] 2l2EH 0|8 2Y 6,050 - 6,050
[Mz2] A 25t 7|8 =4 - 133,770 A 133,770
[CHel] 2abd s A Ztst - 52,500 A 52,500
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X 85 8 58
3| A= 1 2023
of AR - Eof ot
A TR Letks A
(chol:xel)
O AFTFE (TR A £ M RALY) s Feet H|mEY
[M5] 2strict A% 23t - 12,400 A 12,400
[MF] 2HAR| AHEHA 2HDF A3 - 22,700 A 22,700
[M5] X9 22HRH 7tx| 22 2 S |AHES} - 17,400 A 17,400
[CHRl] AlBIEA EAIZS = - 81,270 A 81,270
[MF] et S=EE23 AEA - 22,000 A 22,000
[ME] ZEZA AHEA ZYH 2 - 59,270 A 59,270
[H&] 4 2AHH| (BT EE) 4,352 5,380 A 1,028
[EH2l] 7|22 (2t & 7|2 ) 4,352 5,380 A 1,028
[M&] 71 2ZE (228272 ) 4,352 5,380 A 1,028
TS| EE 23 HA AL (RIEHS) 2T & A 100,000 100,000 -
[Ha] Y A2 8N 100,000 100,000 -
[CHel] AlRISA ZA|R2S =4 100,000 100,000 -
[ME] EA1E 22712 29 100,000 100,000 -
dH7|g 2 23 @ FoA(EF, /EF) Al 13,623,700 12,270,335 1,353,365
dYo|gas ZadoiF A 546,050 721,700 A 175,650
FEXE & (P4 _=HF,Y0HF) 514,823 491,982 22,841
Y9 23 EHF 2704 A 312,123 286,282 25,841
[(H&] dAx| 5 301,507 275,330 26,177
[CHel] 82 A2 &35t 295,327 270,830 24,497
[M5] SNS 2EI= &M 35| 53,503 43,480 10,023
[ME] 822 M=z 58,600 54,600 4,000
[M&] olEjol2E 29 37,800 37,800 -
[MF] ofx -85 46,024 25,000 21,024
[MI5] Aok AAX she w7t Y S5 99,400 109,950 A 10,550
[EH] A 2 HAY 28 23t 6,180 4,500 1,680
[M5] oot 2 AAEI 22| 6,180 4,500 1,680
(M) Y 2HFH[(ALXLE) 10,616 10,952 A 336
[EH2l] 7|2 Zu(FG XA E) 10,616 10,952 A 336
[(ME] 71 2Zd(FGXAE) 10,616 10,952 A 336
HAEX|E dMdoiZ A 202,700 205,700 A 3,000
[H&] ZAXH 5 2,700 5,700 A 3,000
[CHel] 82 A= &35t - 5,700 A 5,700
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S| AAE 2023
o &bt 2 0 =0l &k
A= - LA

Xl

Uk

O
[l

H

20234H T

20224

of MZEE (- A8 bl A R AMY) (=0 Ah (=01 2h HmEZ
[M£] SNS &I = =t - 3,000 A 3,000
[M&F] olCjoEE 2Y - 2,700 A 2,700
(el MY & ®MAY 28 Zst 2,700 - 2,700
[ME] oot 2 BAET 22| 2,700 - 2,700
(M) Y 2EEH| 200,000 200,000 -
[cHel] 712l (ofH]H]) 200,000 200,000 -
[MI£] 712 s (ob]H]) 200,000 200,000 -
E528 & A2 (TN _FHF+ANI) 6,690,980 6,512,985 177,995
E58 23d #dF 7L A 6,385,630 5,996,985 388,645
[Ha] 2 XY += 511,859 451,403 60,456
[cHel] XA A 75 424 411 363,805 60,606
[MIE] EalFel elitatz 116,172 137,438 A 21,266
[ME] HAEAIAH 29 188,094 139,170 48,924
[MF] M 2H 7|2 ZH| 120,145 87,197 32,948
[chel] e 92 23t 87,448 87,598 A 150
[ME] et mgE=H 72,448 62,598 9,850
[MIF] A& &g X2 15,000 25,000 A 10,000
(&3] ™ 2| 5,873,771 5,545,582 328,189
[cHel] el 2| 5,862,851 5,536,082 326,769
[M5] 7| 2ted 21z 5,862,851 5,536,082 326,769
[eHel] 7| 2Zu|(ERE) 10,920 9,500 1,420
[MF] 712du(Z57E) 10,920 9,500 1,420
E28 ZMYoiZ A 305,350 516,000 A 210,650
(M) ZAdx|d 7= 305,350 516,000 A 210,650
[cHel] XIRAA 75 305,350 516,000 A 210,650
[MIE] gl =l elatzte] 1,500 - 1,500
[M&] Mcted 7|22y 3,850 16,000 A 12,150
[MF] Mdog 2 300,000 500,000 A 200,000
NP AE & A=(RFAL_EHZ+Y0{F) 131,384 82,130 49,254
MPEAY 23 £2HFZ Qo4 A 93,384 82,130 11,254
[Hd] x| 7% 53,645 49,130 4,515
[CHel] ZHr|gl28 2Y 7|2 Fy| 8,155 9,150 A 995
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X 85 8 58
3| A= 1 2023
of AR - Eof ot
AT Leks| A
(chol:xel)
O AFTFE (TR A £ M RALY) s Feet H|mEY
[ME] 2L 222 g5 =2 8,155 9,150 A 995
[hI] Ak oA &AM 2 45,490 39,980 5,510
[ME] slA 2ol HE F2 39,490 37,980 1,510
[M5] A=zt 6,000 2,000 4,000
(M) iy 2FQu|(M 22 A E) 39,739 33,000 6,739
[chel] 7| 2ZH(RH =2 A E) 39,739 33,000 6,739
[ME] 71 2Zd (K22 AHE) 39,739 33,000 6,739
MPsAE Z2MU0{Z A 38,000 - 38,000
[H&] ZAX| AT H 38,000 - 38,000
[CHel] AEo|g 2] 29 7|2 & 32,000 - 32,000
[MF] dE7|2l28 48 2 32,000 - 32,000
[Ehl] Ak oA &AM 2 6,000 - 6,000
[MF] =2z 6,000 - 6,000
AMASR2HE & 2 (2P0 _AEF) 6,832,563 5,904,938 927,625
(M) SEt=EERsiE 29 3,633,681 2,842,898 790,783
[chel] SEHEEHRESME Al 2tz 3,633,681 2,842,898 790,783
[ME] HASAIM 7X| 2 1,238,706 979,478 259,228
[MIE] ZIHAAM 7X| 22 870,910 832,300 38,610
[MIF] M7/ S4l/28/527] 7R 2 807,084 545,692 261,392
[ME] FM/=8/Fx 7x| 2l 402,472 191,233 211,239
[MF] SEISEEsHME -2 2 142,100 198,780 A 56,680
[MF] o AIAE 2H(SEHET 172,409 95,415 76,994
[(Hd] 3SAMu|A &l 1,073,937 969,731 104,206
[CHe]] AZ X 2Y 593,213 474,222 118,991
[MF] 2% 2 411,704 337,970 73,734
[ME] A% 2 olojzelz 2 138,810 101,568 37,242
[M&] et A3 2 42,699 34,684 8,015
[CHel] SE=EEEsHE ATl Sy 480,724 495,509 A 14,785
[MIF] DZHEHo MH| A ShAF 480,724 495,509 A 14,785
(Hd] e 2dgy| 2,124,945 2,092,309 32,636
[chel] ez 2dH| 2,080,665 2,038,389 42,276
[MF] SEEHE Q7| 2,080,665 2,038,389 42,276
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X 85 8 58
3| A= 1 2023
of AR - Eof ot
A TR Letks A
(EERSE))
O AFTFE (TR A £ M RALY) s Feet H|mEY
[EHel] 7| 2ZH|(AE . Hs2LE) 44,280 53,920 A 9,640
[ME] 712du|(MA A s29E) 44,280 53,920 A 9,640
ols2sta s 23 FoAN(EF, /AEF) A 9,627,311 6,996,031 2,631,280
o225ty ZadoiZ A = 267,000 A 267,000
3=l & T2(TAM_AER) 3,709,473 2,668,742 1,040,731
[MH] SHAZstol s 253 2=t 2,349,582 1,266,655 1,082,927
[CHel] Sodolls 23t &t 2,349,582 1,266,655 1,082,927
[MF] 71283 29 1,767,000 1,002,900 764,100
[MF] 783 g2 487,065 224,140 262,925
[MF] st 2o s HdEs & 2% 11,000 11,000 -
[MF] olEE 2Y 75,997 24,415 51,582
[ME] olEE o2t ALY 8,520 4,200 4,320
[(Hd] iy 2| 1,359,891 1,402,087 A 42,196
[chel] el3 2Yy| 1,316,427 1,359,055 A 42,628
[MF] ZAT Qlzid| 1,316,427 1,359,055 A 42,628
[Etel] 7| 2ZH|(SAH=H) 43,464 43,032 432
[ME] 7| 2Zdd|(Sl&E) 43,464 43,032 432
A 2HE & A2 (2P _EAZ, =) 1,239,270 662,263 577,007
MAl2HE 23 EHZ 704 A 623,174 572,263 50,911
[H&] A2l 23ekR 7|2 & 607,354 558,059 49,295
[CH2l] X9 2t A 2& 23t 289,172 316,533 A 27,361
[ME] 2 R 28 dlsAty 289,172 316,533 A 27,361
[chel] 24 & 25lofl&s X 2ty 318,182 241,526 76,656
[MIF] StE A 2SR EE 7| & A 318,182 241,526 76,656
[Ma] A 2GEy| 15,820 14,204 1,616
[EH2l] 712 ZH(THAI2YE) 15,820 14,204 1,616
[ME] 7| 2Z8(TA2HE) 15,820 14,204 1,616
HMAI2HE 234 I AL (IEHS) 2Fof& A 616,096 90,000 526,096
[(H3] Al 2atstw 73] =of 616,096 90,000 526,096
[ctel] XA 25 AF s Zat 616,096 90,000 526,096
[ME] MEzolEDg 2o 90,000 90,000 -
[MF] sStE LB 25t 5324 Eas) 526,096 - 526,096
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X 535 &8
3| Al E ¢ 2023
of obHE 1 =0 o
S| ATE  LutE A
(Etel:x 2l
O AFTFE (TR A £ M RALY) s Feet H|mEY
EH1E & A2(27d A EA4F, AEF+YHF) 2,017,820 1,517,620 500,200
EH18 23 &9F T4 A 77,820 90,620 A 12,800
[(HA]A2 T2 26 S4 2 HESH 28s 2S5 69,300 50,000 19,300
[cHl]AIRIRN0Y 715 2ol & x| A5} 69,300 50,000 19,300
[MF] €™ 23 FH| 69,300 - 69,300
[ME] Al EH 22 - 50,000 A 50,000
[y ]dd2ddu|(EH1E) 8,520 40,620 A 32,100
[EHel] ZI2ZE(FH1E) 8,520 40,620 A 32,100
[ME]712Zu(SH1E) 8,520 40,620 A 32,100
SH1E Aoz A = 77,000 A 77,000
[FA AL £ ZM |4 2 HESH BHE 23 - 77,000 A 77,000
[Ctel Aol &0 7|5 =of 3 X[ A5} - 77,000 A 77,000
[MF]EA™ 235t FH| - 77,000 A 77,000
EM18 234 AL (RIEHS) F0l A A 1,940,000 1,350,000 590,000
(=] SIMAl 2SN 29 1,940,000 1,350,000 590,000
[chel] Al2lo] =5t stMAl HESH x|& 2 TA| 2HE Zat 1,940,000 1,350,000 590,000
[M£] std dizo| SH| 1,650,000 1,350,000 300,000
[M5] 2t 2o 3 Ex 290,000 - 290,000
EXM28 & (7o _Eiz, ES+AF) 1,731,020 1,682,904 48,116
FH 28 23 29 FZ T4 A 321,020 122,904 198,116
(] ATz =5 SN Y OESH 24 23t 279,000 115,000 164,000
[EHRl] AR S A Zst 45,000 45,000 -
(M5] =H7|&stn 30,000 30,000 -
[ME] S Algl 2UE Y 15,000 15,000 -
[CHel] AlolErod 7|5 =i & x| H A3} 171,000 - 171,000
[MIE] FtE At EH 171,000 - 171,000
[CHRl] X S5 =M A3 63,000 70,000 A 7,000
[MF] Ecto] 3Adl==H| 63,000 70,000 A 7,000
(M) iy 2dQu(5H28) 42,020 7,904 34,116
[EHel] ZI2Zu(FH2E) 42,020 7,904 34,116
[M&] 7| 2dul(FH28) 42,020 7,904 34,116
SH 28 ZAJoiZ A - 190,000 A 190,000
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Xl

S| AAE 2023
o &bt 2 0 =0l &k
A= - LA

Uk

O
[l

H

20234H T

20224

of ATt (- A el - M FALY) (=0 2D (=0 2h) ClpmE->1:
[(HH] A2 FE SH |4 ¢ HESH =28 235 - 190,000 A 190,000
[chel] AlRIEto] 715 &l 2 x| @43t - 190,000 A 190,000
[MIF] 7S AL EA - 190,000 A 190,000
X 28 23 AL (RIES) 2704 A 1,410,000 1,370,000 40,000
[(HY] ANYUFE 56 SN Y HESH 2= L3t 1,410,000 1,370,000 40,000
[chel] HALZ S EH X% 24X 1,410,000 1,370,000 40,000
[ME] M= 5 25| 910,000 880,000 30,000
[MF] Y=oi g SRS T2 500,000 490,000 10,000
SHER2YEXHE & A2(2TH M _ES) 929,728 731,502 198,226
[M&] Aol X[ of =210 &5t &0ist= Z3tof =AY 898,632 696,478 202,154
[Chel] obMstn Hotst ZAHZ stAM S 898,632 696,478 202,154
[MEF] AT ROHAIL 2| 2 262,677 440,127 A 177,450
[MF] SHAZ B5AL B2l 29 205,955 256,351 A 50,396
[M5] SHE =AM 7HM 430,000 - 430,000
[Ha] A 2GEy| 31,096 35,024 A 3,928
[CHel] 7| 2ZH|[(SAH 2GR HE) 31,096 35,024 A 3,928
[ME] 7|22 |(SHE2LERHE) 31,096 35,024 A 3,928
AlgI2si2 2 234 T AN(EAF, AES) Al 4,894,425 5,653,278 A 758,853
AlQI 2S5 AAQ{Z A 180,316 180,451 A 135
AlQIZ3E & AZ(2TAA EHF, Y ER) 1,064,764 1,080,372 A 15,608
Al2l2stE 23 EHF 704 Al 954,764 954,372 392
(M2 ] Aol 22te 7|2 S 931,892 933,000 A 1,108
[chel] 24 & 25lofl&s X 2ty 931,892 933,000 A 1,108
[MEF] steo&sEHE 93,000 93,000 -
[MF] Btotote Sz 329,480 330,000 A 520
[M 5] 2lo| A AELE ot} 259,912 260,000 A 88
[ME] 222 BEAIY 249,500 250,000 A 500
[Ha] A 2GEy| 22,872 21,372 1,500
[EH2l] 7122l (AlBI25HE) 22,872 21,372 1,500
[M&] 71 2Zd(AlRI25HE) 22,872 21,372 1,500
Al2I25HE 23 AR (RIERE) 2T ol&t A 110,000 126,000 A 16,000
[Ha] Aol 2steks 7(2] =il 110,000 126,000 A 16,000
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of AR - Eof ot
AT Leks| A
(EERSE))
O AHTFE (PR e M AL R]) s Feet H| D57
[chel] 2k & 23tols MEl Bt 110,000 126,000 A 16,000
[MEF] A2 L2 ds 110,000 126,000 A 16,000
o|C|ofE & RE(2T0A 2IES) 879,934 874,785 5,149
(2] SSMH|A =Y 502,417 514,866 A 12,449
[EHel] olCjof2El =52 =M 502,417 514,866 A 12,449
[M&] Alelojcjojn & 99,850 - 99,850
[MI5] olcjoful S & - 104,000 A 104,000
[M&] &ol7t= olEjof ms 47,000 - 47,000
[MI5] Aol 2EI= M2 XY 71,940 - 71,940
[MZ] olC|of 2E = M ZFX| ) - 55,000 A 55,000
[M&] olEjojARC|2 - 85,600 A 85,600
[M5] olcjofMdEe &Ms 10,620 - 10,620
[MF] olcjofME Ald 2 273,007 270,266 2,74
[Ha] A 2GFy| 377,517 359,919 17,598

[chel] el3 2Yy| 361,669 344,071 17,598

[ME] olciojME] 2 elzH| 361,669 344,071 17,598
[cHel] 7| 2Zu|(o|C|of E) 15,848 15,848 -
[MIF] 7|2 (ojC|olE) 15,848 15,848 -

MEZSE & JZ(2TA A QIEF) 1,104,048 1,031,252 72,796

(2] ZSAMb|A =l 616,650 558,324 58,326
[chel] LabollM 2hte B5L 2t 401,882 255,318 146,564
[MIE] MetEstde 2t dFY 32,500 67,810 A 35,310
[ME] de2stns 38,150 - 38,150
[MIF] st Al HEA|ZHStol 238,122 158,388 79,734
[ME] Meesl=53 g4} 13,440 5,000 8,440
[(ME] 4e2stsss wEs 30,310 - 30,310
[MF] 2E7|2 &Mt 23,360 9,220 14,140
[MEF] SS9 2435 26,000 12,500 13,500
[ME]ME2sME X2 28 - 2,400 A 2,400
[CHel] RS2 234 2AAE(£30, Al70) - 100,000 A 100,000
[MEF] MER3ET3 IS - 20,000 A 20,000
[MF] ME2st=x - 80,000 A 80,000
22




X 85 8 58
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of AR - Eof ot
AT Leks| A
(EERSE))
O AFTFE (TR A £ M RALY) s Feet H|mEY
[Chel] ME2stME AlM 22| 214,768 203,006 11,762
[ME] Al 7HA /X 25 214,768 203,006 11,762
[Ha] A 2GEy| 487,398 472,928 14,470
[CHel] ol2d 2| 453,458 452,088 1,370
[ME] MeEsidE 2 27| 453,458 452,088 1,370
[EH2l] 7|22 (M eE25HE) 33,940 20,840 13,100
[(MS] 71 2Zd|(MEE3E) 33,940 20,840 13,100
SE2SEEE & AZ(2TAL _/EF) 1,160,154 1,670,974 A 510,820
[Ha] SSAMH|A & 602,203 1,079,328 A 477,125
[cHel] ==7|d2 29 220,875 729,335 A 508,460
[MF] =748 HA 2Y - 19,100 A 19,100
[MF] =279 studA LS - 91,982 A 91,982
[ME] =279 S8 2= E - 56,860 A 56,860
[M5] =21 & FE2 - 143,031 A 143,031
[(M5] REZHE= 245t - 13,662 A 13,662
[MF] X2 AR - 51,450 A 51,450
[MF] s2dzdst - 31,100 A 31,100
[ME] =378 Ad 29 220,875 269,650 A 48,775
[M5] MY 2sHx] 24 (=40, Al60) - 52,500 A 52,500
[cHRl] 3FM3 125 T2 Y 381,328 349,993 31,335
[MF] M2 ST AAH TS 66,250 34,843 31,407
[MIF] 2rM 2 g st At 78,650 194,150 A 115,500
[MF] 2ME EE2E 2Y 27,280 - 27,280
[M5] 44 2stx 24 (=40, Al60) 50,000 - 50,000
[MEF] st =22 Sstiet BAL 16,800 - 16,800
[ME] 2tM3. 12322 2lolY 16,300 - 16,300
[ME] s2d2kzst 21,100 - 21,100
[ME] 3312t Al 2H 104,948 121,000 A 16,052
[(H&] ™ 2gZEH| 557,951 591,646 A 33,695
[Chel] el3 2| 525,923 559,618 A 33,695
[ME] =792 2 M2 29 2lzdy| 525,923 559,618 A 33,695
[EHel] 7|2 Zu|(SE RS 25HE) 32,028 32,028 -
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A TR Letks A
(chol:xel)
O AFTFE (TR A £ M RALY) s Feet H|mEY
[(ME] 71 2ZH|(Se2S2H) 32,028 32,028 -
HEctRHE & A2 (T4 EHZ,20F) 865,841 1,176,346 A 310,505
ol £t Yl 23 &HoiF 270 AL A 685,525 995,895 A 310,370
(M) Al 2ststR 72| =) 680,861 991,231 A 310,370
[ctel]dasct 29 2 XY g5 680,861 991,231 A 310,370
[ME] stMAIHH s 2 680,861 991,231 A 310,370
[H&] I 2AAH| (ol sH2dE) 4,664 4,664 -
[EH2l] 712 e[ (= Et2gE) 4,664 4,664 -
[ME] 71 2Zdd| (0 sEH2EE) 4,664 4,664 -
o sct2dd ZAadoz A 180,316 180,451 A 135
[H&] Al 23tets 7|3 2o 180,316 180,451 A 135
(Bt ] dlesct 29 2 XA &5 180,316 180,451 A 135
[ME] stdAl " Ho st 2H(E. Z2X Eo st 2Y 180,316 180,451 A 135
=X AMEl 23H QT 0| AH(EAZ, /AEF) Al 1,434,148 1,308,056 126,092
ol =X AME] ZaAoiF A 85,800 - 85,800
ozelxdE & R (T _EHT) 403,372 332,420 70,952
o EQlx|AE 23 & 7oA A 312,572 332,420 A 19,848
[H&] of x| AME 2 301,036 320,000 A 18,964
[chel] ol s ol R x| 220,000 30,000 190,000
[ME] Azl &l XX 100,000 30,000 70,000
[ME] 7|d2t ol s2lof & st s of MLt 120,000 - 120,000
[EHel] ol &el7|2kx| & 81,036 - 81,036
[ME] ol &&=tz 7 g4 3t X| 2 ALY 76,400 - 76,400
[MF] etz X HAS 4,636 - 4,636
[CHel] ol &2l x| - 290,000 A 290,000
[MEF] odlselstn - 254,000 A 254,000
[M5] ol&el Rtelx|& - 36,000 A 36,000
[Ha] A 2GEy| 11,536 12,420 A 884
[EH2l] 712 e (=2l x| 2 ) 11,536 12,420 A 884
[MS] 71 2Zd| (o= x2E) 11,536 12,420 A 884
o EQlx| e ZAAoiZ A 85,800 - 85,800
[Ha] o sx|¢ME 2 81,000 - 81,000
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O AFTFE (TR A £ M RALY) s Feet H|mEY
[chel] ol sold 7 x| 81,000 - 81,000
[M5] stMof &2l DB olE|AE 2o|=2{z2] 50,000 - 50,000
[MIF] ofl&l oA 25} otztd|o| 31,000 - 31,000
[(HH] g 2hddd|(dl&elx|E) 4,800 - 4,800
[chel] 7|2 (dl sl x| & E) 4,800 - 4,800
[ME] 712 ( =X 4 E) 4,800 - 4,800
o el x| AE 23 CH AL (HIEFR) 2T oll4 A 5,000 - 5,000
[H&] of x| AME 2 5,000 - 5,000
[Ehel] ol &el7|Ex| 5,000 - 5,000
[ME] ez XA 5,000 - 5,000
22X & AT _gdF, /3, Ex7 834,976 700,016 134,960
XKUY 23 EHF P& A 707,976 632,016 75,960
[H&] ol sx|YME 2 703,000 622,600 80,400
[cHel] ol =& ax| 638,000 622,600 15,400
[ME] sl sgsSx & 430,000 421,100 8,900
[ME] 27 =2sXd ZE0 =31 140,000 94,500 45,500
[MF] ol s&= gAx| A 68,000 - 68,000
[MF] o &s&a37H 245 X2 - 107,000 A 107,000
[CHel] Sdddgd &2t 2 65,000 - 65,000
[M5F] 2023 SoloflsdE&s7t 29 65,000 - 65,000
(M) A 2HFy| 4,976 9,416 A 4,440
[EH2l] 7|22 (ol = &= X 2 E) 4,976 9,416 A 4,440
[ME] 7122 (=& 2 ) 4,976 9,416 A 4,440
ol & FAtX| g 23 CHA AL (IEHT) T 0l &t A = 5,000 A 5,000
[H&] ol sx|YHE 2 - 5,000 A 5,000
[EHel] oA =& EX - 5,000 A 5,000
[M5] S &z x| - 5,000 A 5,000
HEHAXE Hxg 2704 A 127,000 63,000 64,000
[H&] ofl sx|AME 2 62,000 63,000 A 1,000
[EHel] =& 2x| | 62,000 63,000 A 1,000
[MF] B0 s2sX8 2E0&31 62,000 63,000 A 1,000
[Ha] o x| dME 2 65,000 - 65,000
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of AR - Eof ot
A TR Letks A
(chol:xel)
O AFTFE (TR A £ M RALY) s Feet H|mEY
[EHel] Sddsdss2t 7Y 65,000 - 65,000
[MF] 2023d SoledEs5s7t 29 65,000 - 65,000
HEWSXAUE & A2(2F0A_=HF) 408,600 338,620 69,980
oL SX|HE 23 EHF 270 A 408,600 338,620 69,980
(M) ol sx|2ME 2 400,000 330,000 70,000
[ctel] ol s msX| 2 400,000 330,000 70,000
[MEF] 23tlg s X dALY 300,000 290,000 10,000
[ME] 2sllsns 7| 2AlY 100,000 40,000 60,000
(M) St 2gdy| 8,600 8,620 A 20
[EH2l] 7| 2ZH| (s sX 2 E) 8,600 8,620 A 20
[M&] 712Zd|(dlsnsX| ) 8,600 8,620 A 20
EMEES 23 2P AHIEF) Al 18,609,215 18,241,140 368,075
EMTEMT|EE & 2 (2704 HEHS) 310,210 300,576 9,634
[H&] =AM Ag chztst 298,020 294,390 3,630
[chel] =My 2E 2 298,020 294,390 3,630
[ME] EMHEL 58 28 83,450 60,410 23,040
[ME] EMBEE M e 2 &5 158,250 136,400 21,850
[ME] EMB2E @7t X2 31,320 28,000 3,320
[ME] AREEEMZ SMEstZ203 X2 25,000 25,000 -
[ME] SHEA—EM 2 HINAE<T M. 5> - 14,580 A 14,580
[ME] stEAlZE =AM 2 22|20 ON TA 2 - 30,000 A 30,000
[Ma] S 2"gy| 12,190 6,186 6,004
(] 7| 2de[(EAM 2= 7|2 E) 12,190 6,186 6,004
[ME] 71 2Z8(TM 2= 7|2 E) 12,190 6,186 6,004
EMURAXYE & 2 (274 /EHS) 12,555,388 12,031,935 523,453
(2] =AM B 5 ch2tst 3,624,147 3,403,801 220,346
[CHel] EME2EX|2E 2F 3,624,147 3,403,801 220,346
[MI5] 702 R & ALY 921,600 871,680 49,920
[ME] EM3 25 2 stz | 2,244,545 2,122,975 121,570
[ME] M2 ASOIRF ME|A 221,100 219,509 1,591
[ME] T2 Mated 179,420 142,919 36,501
[ME] stEAlZ =AM 2 22 g Zsl 57,482 46,718 10,764
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O AFTFE (TR A £ M RALY) s Feet H|mEY
[(Hd] i 2| 8,931,241 8,628,134 303,107
[chel] ol 2| 8,763,505 8,469,638 293,867
[ME] =Mzl H| 8,763,505 8,469,638 293,867
[cHel] 7| 2 ZH[(EMA2EX|HE) 167,736 158,496 9,240
[ME] 7| 2du|(ZM 2GR 2 E) 167,736 158,496 9,240
SHEEREE & HR(2FAA_/EF) 331,912 215,420 116,492
[H&] =AM 2 As clzts) 320,420 207,440 112,980
[EHe] SM2stEEE 2Y 320,420 207,440 112,980
[ME] SMEaTEAY 2 153,540 139,260 14,280
[ME] 272U S MLEE0lALY (=30, Al70) 35,780 36,380 A 600
[MF] SAEE 29 x| dA 32,000 24,000 8,000
[MEF] el =50+2H XA 9,100 7,800 1,300
[M5] StEAIEI of7to| 2 FHALY 90,000 - 90,000
[Ha] A 2GFy| 11,492 7,980 3,512
[cHel] 7I2du(SM 2zl ) 11,492 7,980 3,512
[ME] 7| 2dd|(SM2aRI &) 11,492 7,980 3,512
SEISSESIHEEMAZ & F2 (270 A ES) 748,180 774,374 A 26,194
[H&] A2 As clzts) 729,968 760,714 A 30,746
[CHel] SESEEsE M2 29 729,968 760,714 A 30,746
[MIS] Al 22 378,844 379,024 A 180
[ME] X 2=tE 188,740 208,740 A 20,000
[ME] Mo F7|E SME=Z2 Y 32,520 32,520 -
[ME] dEFAdAZS=2TY 5,760 5,760 -
[ME] =MESREAY 51,274 50,690 584
[MF] ™ & stA 59,830 66,180 A 6,350
[ME] AMMAODIERHZAEM 2 2Y 10,000 14,800 A 4,800
[ME] SSEME EMZ2O0Y 2GX|2 (ZH|30, AlH|70) 3,000 3,000 -
(M) g 2dy| 18,212 13,660 4,552
[CHel] 7|2 HH|(SEtS EESHE EM ) 18,212 13,660 4,552
[ME] 7| 2du|(SEHES SR E TA 2 18,212 13,660 4,552
A ZFotEME & FR(2To A ERD) 768,123 805,831 A 37,708
[H&] =AM 2 s chzts) 741,507 777,015 A 35,508
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O AFTFE (TR A £ M RALY) s Feet H|mEY
[(CHe ] HE =M 2 415,459 457,089 A 41,630
[MIF] Ald 22| 230,915 285,205 A 54,290
[M5] X2 2tE 114,344 94,344 20,000
[ME] Mol 7|8 =M2stz=20Y 29 23,370 24,870 A 1,500
[(ME] HEFHUAS =208 22 4,290 2,370 1,920
[ME] SMEaTIEAY 29 10,000 10,000 -
[MF] HEStAIY 22 32,540 32,300 240
[MF] ISEME 83 XAMEY 2431 x| Al - 8,000 A 8,000
[EHel] Rtz M2 2 326,048 319,926 6,122
[MIF] Ald 22| 161,788 167,666 A 5,878
[MF] XAt2EE 93,420 78,420 15,000
[ME] Mol F7 |8 =M2stzz0H 29 11,280 9,840 1,440
[ME] HEFeHEs 220 29 3,600 2,400 1,200
[ME] SMEITIEAY 2 17,000 13,200 3,800
[M5] HEStAlY 22 38,960 40,400 A 1,440
(ME] SSEMZ HH XAME 431 X2 AtY - 8,000 A 8,000
[MH] y 2| 26,616 28,816 A 2,200
[EHRI] 7|22 (HE =AM 2 15,860 17,760 A 1,900
[ME] 7] 2Zd|(HE =AM 15,860 17,760 A 1,900
[EH2I] 7|22 (Tl ek A 2t 10,756 11,056 A 300
[MIE] 7| 2Z8[(Zl et A{ 2 10,756 11,056 A 300
SEL YUY HEEME & F2(LTHA_IEF) 578,584 692,368 A 113,784
[Ha] =AM 2 95 ch2tst 557,544 671,968 A 114,424
[CHel] SE=M2 29 468,156 583,800 A 115,644
[MIF] Al 22| 241,646 316,550 A 74,904
[M=] X2 2tE 135,000 146,820 A 11,820
[ME] doi 718 =M2stz=20Y 2Y 20,790 20,790 -
[ME] HEFUAS Z20Y 2 8,760 1,800 6,960
[ME] SM2szTEAd 29 20,250 18,300 1,950
[MF] HEStAIY 22 31,730 45,540 A 13,810
[ME] SSEAMB SMZ203 29X (EH[30, AlH]|70) 4,180 - 4,180
[M5] chEstMu|A X[/ AFY (ZH]70, AlH|30) 5,800 - 5,800
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of ATt (- A el - M FALY) (=0 2D (=0 2h) ClpmE->1:
[ME] SSEM2 g XAME 243 X Al - 10,000 A 10,000
[ME] TM2 L} Cl2stM 7}t 2HE7] AFKE(EH|30, AlH|70) - 24,000 A 24,000
[CHel ] MuUzteEM 2 29 48,924 50,304 A 1,380
[MIF] Ald 22| 14,976 14,476 500
[M=] X2 2tE 15,708 14,748 960
[M5] Mol 7|8 =M2stZz=20 2Y 10,200 10,200 -
[ME] SMEaTIEAY 29 3,100 2,800 300
[MF] HEStAIY 22 4,940 8,080 A 3,140
[cHel] HlExtezAM 2 2 40,464 37,864 2,600
[MIE] Al 22| 7,752 5,952 1,800
[MF] XAt2EE 15,312 14,352 960
[ME] Mol F7 |8 =M2stzz0H 29 10,200 10,200 -
[ME] =MEsEEsAY 29 3,100 2,800 300
[M5] HEStAIY 22 4,100 4,560 A 460
] HM AL 21,040 20,400 640
[Etel] 7| 2ZH|(S =2 TA 2 16,240 16,560 A 320
[ME] 71 2dd|(8 M) 16,240 16,560 A 320
[CHRI] 7|22 (L E2 =AM 3 2,400 1,920 480
[MF] 71 2Z[ (L E2EAMH) 2,400 1,920 480
[EHel] ZI2Zu|(H S22 EM T 2,400 1,920 480
[ME] 7| 2Zd8[(H S22 A 2 2,400 1,920 480
47 S S0 EME & 1 2(TPH A _RIER) 579,901 601,568 A 21,667
Y] M2 s chztat 548,629 568,226 A 19,597
[EHel] AT =M 2 255,981 241,398 14,583
[MIE] Al 22 131,261 128,568 2,693
[MEF] At=2EE 51,800 51,260 540
[ME] doi 718 =M2stz=20Y 2Y 16,080 16,080 -
[ME] HEFUAS Z20Y 2 9,600 9,840 A 240
[ME] SMEaTIEAY 29 18,200 16,000 2,200
[MF] HEStAIY 22 19,040 19,650 A 610
[M2] SSEM 32 XAME 2435} X2 AL (TH|30, AlE|70) 10,000 - 10,000
[EH2l] SX|Ltefof2lo|EM 2 2 252,816 288,848 A 36,032
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O AEE S (T2 -H 3 - chel A R ALY) (=0 2D (=0 2h) ClpmE->1:
[MIF] Al 22| 123,728 143,320 A 19,592
[ME] Xtz22tE 49,428 50,728 A 1,300
[M5] Mol 7|8 =ME2stz=20Y 29 26,400 27,300 A 900
[ME] "EFAE =20 5,760 5,760 -
[ME] SMEsRSAY 29 14,280 13,000 1,280
[MF] HEStAY 22 33,220 41,640 A 8,420
[ME] 3SEM2 83 XAMEY 243 X Al - 5,000 A 5,000
[MF] SSEME SMZ233 2GR 2 (ZH|30, AlH|70) - 2,100 A 2,100
[CHel] Y=ot 29 39,832 37,980 1,852
[MIF] Ald 22| 10,010 13,170 A 3,160
[ME] A2t 12,972 12,750 222
[ME] Mo 7|8 SEMEa =20 2Y 4,800 4,920 A 120
[ME] =MEsEEsAY 29 3,050 3,200 A 150
[MF] et 22 9,000 3,940 5,060
[Ha] A 2GEy| 31,272 33,342 A 2,070
[CHel] 7| 27| (&2 A2 17,052 19,322 A 2,270
[MS] 7] 2Zd| (&2 =AM 2 17,052 19,322 A 2,270
[EH2I] 7|22 (SRt =A 2 12,300 12,100 200
[ME] 7| 2du|(SX|LI =AM 2 12,300 12,100 200
[EHel] ZI2Zu|(dS0REM T 1,920 1,920 -
[ME] 7| 2Z8[(HS0IF22 A2 1,920 1,920 -
S ESUTME F A2 (2704 _EHS) 662,449 626,123 36,326
[H&] =AM 2 As chzts) 636,429 598,113 38,316
[CH]] SAEM 2 2 388,067 356,799 31,268
[MIE] Al 22 226,813 210,665 16,148
[MEF] At=2EE 80,624 81,624 A 1,000
[ME] doi 718 =M2stz=20Y 2Y 22,080 22,080 -
[ME] HEFUAS Z20Y 2 9,720 9,720 -
[ME] SM2szTEAd 29 15,000 11,000 4,000
[ME] YEsAE 29 33,830 20,600 13,230
[MEF] ZEEMT SMZ2 3 29(£H|30, AlH[70) - 1,110 A 1,110
[CHel] SE0ISHEMEHRY 248,362 241,314 7,048
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O AFTFE (TR A £ M RALY) s Feet H|mEY
[MIF] Al 22| 52,398 46,660 5,738
[MF] XAt=2EE 113,864 113,864 -
[ME] ol F7|8 =MEstZE] 24,900 20,190 4,710
[ME] MEF S Z20W 2 2,400 2,160 240
[ME] SMEstEEAY 29 11,840 6,300 5,540
[MF] HEStAY 22 40,960 40,100 860
[ME] 3SEM2 83 XAMEY 243 X Al - 8,000 A 8,000
[HME] BSEME SMZEIY 2 (8130, AlH|70) 2,000 4,040 A 2,040
[H&] ™ 2PZA| 26,020 28,010 A 1,990
CHel] 7| 2ZH[(SAH=A B 15,360 17,050 A 1,690
[ME] 712 ZH(SLtTAM 2 15,360 17,050 A 1,690
chel] 7| 24| (S0l SEEMH) 10,660 10,960 A 300
[MEF] 72| (SR80l SE =M ) 10,660 10,960 A 300
Eloh M L2 et & A2 (27 0At 777,204 769,270 7,934
(2] =AM B 5 ch2tst 742,424 734,858 7,566
chel] EfotE M 22 379,330 364,169 15,161
[MIF] Al- 22| 213,480 195,719 17,761
[MEF] At EE 84,420 84,420 -
[MS] Mo F7|8 =M2stZz20 18,420 17,520 900
[ME] dEFUAS =23Y 6,810 4,800 2,010
[MF] SMEATEAYE 2 10,250 10,550 A 300
[ME] EAY 2L 45,950 46,160 A 210
[ME] SSEM2 g X|AME 243 X2 ALY - 5,000 A 5,000
chel] MEEM ey 170,238 139,319 30,919
[MIE] Al 22 89,258 54,179 35,079
[MEF] At=2EE 46,810 46,810 -
[M5] doi 7|8 =MEst==3 13,050 13,050 -
[ME] MEF AT =203 4,800 4,800 -
[MEF] SMEaTIEA 3,050 3,050 -
[MF] HEStAIY 22 13,270 16,030 A 2,760
[ME] BSEME SMZEY (£30, Al70) - 1,400 A 1,400
] 29 MY 2Y 192,856 231,370 A 38,514
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O AFTFE (TR A £ M RALY) s Feet H|mEY
[MIF] Al 22| 63,558 57,930 5,628
[ME] Xtz22tE 82,128 112,720 A 30,592
[M5] Mol 7|8 =ME2stz=20Y 29 20,160 15,480 4,680
[ME] =MEREAY 5,400 9,500 A 4,100
[M5] HEStAY 22 21,610 25,740 A 4,130
[ME] 3SEME 83 XAMY 2431 X2 Al - 10,000 A 10,000
(M) A 2HFy| 34,780 34,412 368
[EHel] ZI2ZH[(Ef b= 2 15,860 14,560 1,300
[MIF] 7|2 (Ef b= M 2) 15,860 14,560 1,300
[EHel] 7|22 (FEH A 2 11,260 11,060 200
[(ME] 712ZH(BEAM 2 11,260 11,060 200
[EHel] 7| 2ZB(=SY =AM 7,660 8,792 A 1,132
[(ME] 7 2ds(sd =AM 7,660 8,792 A 1,132
SU0|SE . FYULIIEMT & F2(2F A S EF) 626,493 692,967 A 66,474
(2] =AM B 5 ch2tst 599,025 665,707 A 66,682
[CHel] SAOIZH M 2Y 322,834 368,238 A 45,404
[MIF] Al- 22| 82,604 120,118 A 37,514
[MEF] At EE 138,710 138,710 -
[MF] Mo F2|8 =MEstZz=20Y 2Y 27,300 29,700 A 2,400
[ME] dEFUAS =23Y 2,400 2,400 -
[MF] SMEATEAYE 2 11,600 12,600 A 1,000
[ME] EAY 2L 57,520 64,710 A 7,190
[ME] SSEME SMZ208 2P X|(TH|30, AlH|70) 2,700 - 2,700
[chel] Felleioj2lol =M 22y 276,191 297,469 A 21,278
[MIF] Al 22| 132,771 174,229 A 41,458
[MEF] At=2EE 59,860 59,860 -
[ME] doi 718 =M2stz=20Y 2Y 21,600 13,200 8,400
[ME] HEFUAS Z20Y 2 7,200 4,800 2,400
[ME] SMEaTIEAY 29 22,700 15,000 7,700
[MF] HEStAIY 22 22,060 25,380 A 3,320
[MF] ISEME 83 XAMEY 243 x| Al 10,000 5,000 5,000
[Ha] A 2gdy| 27,468 27,260 208
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3| A= 1 2023
of AR - Eof ot
AT Leks| A
(che|: XM 2l)
O AFTFE (TR A £ M RALY) s Feet H|mEY
[EH2l] 7|2 ZH[(BEYol8H EM Y 18,268 18,760 A 492
[MF] 712du|(ZY0l3E =AM 18,268 18,760 A 492
[EH2l] 712 Zd | (FLLteiof2lo] =AM 2 9,200 8,500 700
[MF] 7I2du|(FLLteiof2lo] =AM ) 9,200 8,500 700
Y FEL SSO0[SETME &5 FE(LTFo A /ET) 670,771 730,708 A 59,937
[Ha] =M 2 A3 chztst 643,035 703,172 A 60,137
[chel] gl FEST M2 29 378,693 408,741 A 30,048
[MIS] Al 22 123,773 119,951 3,822
[MF] Atz eE 138,780 168,420 A 29,640
[ME] Mo F7|H SMEZR2TY 2Y 18,750 24,810 A 6,060
[ME] HEFHAAS =20 6,060 - 6,060
[ME] =MEsEEsAY 29 28,100 28,100 -
[MF] et 22 51,680 54,460 A 2,780
[MF] ISEMT @3 XAMEY 2435 x| At 10,000 13,000 A 3,000
[ME] Z3SEME SMZ203 2HX|2(ZH(30, AlH[70) 1,550 - 1,550
[CHel] SSolSHEMH2H 264,342 294,431 A 30,089
[MIF] Al 22 45,692 43,111 2,581
[MF] At=2sE 111,220 131,220 A 20,000
[MF] Mo F2|8 =MEstZz=20Y 2Y 30,300 34,340 A 4,040
[ME] HEFAS Z20Y 29 2,520 - 2,520
[MF] SMEATEAYE 2 27,700 31,150 A 3,450
[ME] EAY 2L 44,510 44,660 A 150
[ME] SSEM2 g X|AME 243 X2 ALY - 8,000 A 8,000
[MF] 3SEMB EMZ2 08 29 X AL (EHI30, AlH]|70) 2,400 1,950 450
[Ma] A 2GEy| 27,736 27,536 200
[CHel] 712 Zu| (S F 222 16,960 16,760 200
[ME] 7| 2Zd| (e F2sEM 2 16,960 16,760 200
[cHel] 7| 2ZH(SS0lSEHEMH) 10,776 10,776 -
[MF] 71 2ZH|(FSO0lSEHEME) 10,776 10,776 -
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